@ 3

3>x+79% 2x+a>99 St goen=z
u|waho] 17

x<$9}3>x+7 = x< -4

= nEao syl 42 gonE
a— 9__4
2
a=1
. 2a=2




2x+ 7 < bx+ 1 = WESHE x o & FolA M Fe ASFE a,
0.3x—3 > 0.7x + 1.4 & WE5tE x 9] 7 FoA 7HE 2 A4+E b
HFr g, a-b 9 72?2

O 13 @14 ® 15 @ 16 ® 17

~&B ~

2x+7<bx+1,-3x<-6,x>2

La=2
03x—3>07x+14,3x-30>7x+ 14, -4x>44 , x < -11
Sob=-12

SLa-b=14




42x

- 2x

-l<x<1¥9, —— 4‘:”14 %L‘}D*a< g <bet g,
a+2b 9| 3F2?
@1 @ 2 ® 3 @4 ® 5
4—2x_2(3—x)—2:2_ 2 olma
3—x 3—x 3—x
“1<x<19ZF WY -1 & FolH -1<—x<1
Zr o3& BslH 2<3-x<4
L 1 1 1
Oﬂ/\iz—'lﬁ_< < =
—1‘1‘2‘!40]' 153°-x°3
2 o] 22 T 1< 2 < L
= 2 4= B4 fL s e ===
3—x 2
Ao o2 yaH 1< 2 <O
— — = - —_ —_
3—x 2
azl,bng]E§a+2b:4




